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The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females, non teaching males and non-teaching females among them in a given year. Some values are missing in
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage Male Female |Teaching 1\011_— Teaching| Non-
Employees : l =|Teaching = :
Emplovees|Emplovees| Males Mal Females |Teaching
Males

A 756 526 - 325 - - -

B - = - 215 - 254 -

(& - 159 - B = - 5

D 224 142 82 - - - -

The number of teaching males in College D is 46. If 124 males from college A of whom 62 are non-teaching. are transferred to college D.
then the new number of non-teaching males in college D is.

124

.62

158

1. 166
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Question No. 2 / Question ID 1903 Marks: 2.00



The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing in
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage Male Female |Teaching 1\011_- Teaching| Nomn-
Employees : - Teaching :
Emplovees|Emplovees| Males Females |Teaching
Males

A 756 526 - 325 = = =

B - - - 215 - 254 -

C - 159 - - = Z =

D 224 142 82 - - : .

If the number of females in college C is 147 more than the number of females in College A and the sum of teaching males and teaching
females in College C is 115, then the sum of non-teaching males and non-teaching females in college C is

A2

415

. 467

4, 435
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Question No. 3 / Question ID 1901

The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing in
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage e Male Female |Teaching Non-
i Emplovees|Emplovees| Males Teaching
A 156 526 - 325 - =
B - - - 215 254 -
& - 159 - - =
D 224 142 82 - -

In College A. if the number of non teaching females is 2 more than half the number of teaching females. then the difference between non-

teaching males and non-teaching females is

. 130
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4. 118
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Question No. 4 / Question ID 1904 Marks: 2.00

The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing in
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage Male Female |Teaching 1\011_- Teaching| Nomn-
Employees : - Teaching :
Emplovees|Emplovees| Males Females |Teaching
Males

A 756 526 - 325 - - =

B 5 = - 215 - 254 =

C - 159 = E = . -

D 224 142 82 - - : .

In college D. if the number of teaching females and non-teaching females are equal and the number of teaching males is 5 more than the
number of teaching females, then the difference between non-teaching males and non-teaching females is

224

102

29

1.79
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Question No. 5 / Question ID 1902 Marks: 2.00

The following table shows the number of employees working in four different colleges A-D. along with number of males . females.
teaching males, teaching females. non teaching males and non-teaching females among them in a given year. Some values are missing in
the table (marked as '-' ) that you are expected to calculate if required. Based on the data in the table answer the questions that follow.

College-wise details of employees

Number of
Collage Male Female |Teaching 1\011_— Teaching| Nomn-
Employees 5 ! Teaching 2
Emplovees|Emplovees| Males Females |Teaching
Males

A 756 526 - 325 - - -

B - - - 215 - 254 -

& - 159 - - - - -

D 224 142 82 - - - -

In college B. if the number of non-teaching males is 26 more than the teaching males. the difference between the number of non teaching
males and non teaching females is 122, and the number of males is greater than the number of females. Then the number of employees is

. 768

. 867

. 748

4, 829
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Question No. 6 / Question ID 1939 Marks: 2.00

In waste water treatment, biological processes are employed to remove mainly

A, Bacteria

B. Sugpended solids

C. Fungi

D. Colloidal

E. Soluble organic compound

Choose the correct answer from the options given below:

.A. B and C only
.Dand E only
. B and D only
.C.D and E only
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Question No. 7 / Question ID 1930 Marks: 2.00



Given below are two statements:
Statement I: According to classical Indian School of logic (Nyaya) all fallacies are material fallacies.
Statement IT: Nyaya syllogism is deductive- inductive but not formal- material.

In the light of the above statements. choose the most appropriate answer from the options given below,

. Both Statement I and Statement II are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
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Question No. 8 / Question ID 1942 Marks: 2.00



Which of the the following were visualised by the National Policy on Education. 1986 vis-a-vis higher education?

A, Complete privatisation of higher education
B. Consolidation and expansion of institutions
C. Training of teachers

D. Development of autonomous colleges

E. Strengthening of research

Choose the correct answer from the options given below:

.A. B and C only
LA, Cand D only
.B. C.D and E only
.A. D and E only
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Question No. 9 / Question ID 1918 Marks: 2.00



Which of the following are true of kinesics, a type of non-verbal communication?

A Kinesics does not convey any meaning.

B. Kinesics does not reflect the social system of an individual.

C. Body movements of an individual have potential meanings.

D. Kinesics can be subject to systematic analysis,

E. A person's body language is part of his social system shared with others.

Choose the correct answer from the options given below:

.A. B and C only
. B, C and D only
.C.D and E only
.A. D and E only
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Question No. 10 / Question ID 1924 Marks: 2.00

A man purchased some oranges at 4 oranges for 27 and sold them at 7 oranges for ¥13. Thus. he gained ¥30 in all. The number of oranges
he bought is:

252
280
308
4. 336
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Question No. 11 / Question ID 1913 Marks: 2.00

In the submission of thesis, if a student is found to commit plagiarism of level 3 as per UGC Regulations 2018 on Plagiarism, the
following penalty will be imposed-

. Student shall be debarred from submitting the revised thesis for a period of one year
. Student's registration for that programme shall be cancelled

. Student shall be debarred from submitting the revised thesis for 6 months

. Students shall be asked to submit the revised thesis within 6 months

i faril foemell g1 R Wiy way O g8 Ur oiidl § (o 39+ Ailefds aR1 4 Haida gei] [afmm 2018 & SF9R R 3 3t
TIefd® IR &1 . df 38 R Fefifad § € S 91 AT T S

R e

1. faenf 1 U a9 o1 a@fty & forg W=niid iy gaY URgd @3 9 X fadr e
2. 39 Urad $H & foru faeeif &1 deflaur fwsd o fan s

3. TaEniY &1 6 AT8 & fou SRTE QMY Hae Ud SR 4§ e 14T e

4. Tae o1 6 1T & 2= H=NTAT ey Hae Tgd P & AU Sel e

1 (Chosen Option)
1 (Chosen Option)

o O O O

A OWOWDNN

Question No. 12 / Question ID 1933 Marks: 2.00



In the following MS-EXCEL spreadsheet you are given a list of 100 customers. Column 'A' represents their names . 'B’ is for customer
category. 'C' for payment category (0 Means discounted price and 1 means full price), 'D' indicates price that customer pay. The example
spreadsheet below is not the complete list and simply shown different categories .

A B C D

1 | Customer Name | Customer Category | Pavment Category || Price(Rs)
2 Raman Child 0 0
3 Dinesh Adult 1 3
4 Jashan Adult 0 2
101 Amit Child 0 0

Statement I: The formula = COUNTIFS (C2:C101. "0") counts all customers who get discounted price.

Statement IT: The formula = COUNTIF (C2:C101, "=0") Counts all customers who get discounted price.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II 1s true
= 21 115 U6 UH URid Sisiie 8 U@ 100 AEH! &I el &l 715 ¢ PIad 'A' T 34 411 §: 'B' Ued 9ull & fau 8. '¢' YiraH
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Question No. 13 / Question ID 1929

Marks: 2.00



Identify the formal fallacy committed in the following argument. "All household pets are domestic animals. No unicorns are domestic
animals. Therefore some unicorns are not houschold pets".

. Existential fallacy

. Denying the antecedent

. Affirming the consequent

. Drawing affirmative conelusion from negative premises
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Question No. 14 / Question ID 1909 Marks: 2.00
Given below are two statements:
Statement I:In short term memory. the sensory information is preserved and retained in the form and shape as it was originally received

Statement IT: TIn immediate memory . sensory information is subject to a process of encoding for being retained in the form of special
visual and auditory impressions. symbols. signs and words.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is mcorrect
4. Statement I is incorrect but Statement II is correct
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Question No. 15/ Question ID 1910 Marks: 2.00

The absenteeism related behavior in which children willingly make themselves absent from the classroom or outside classroom activities
of the school without the prior permission of their parents is called as:

1. Cheating

2. Tantrums

3. Lying

4. Truancy
UY SRyadr See orasR &l 9 O ¥ 91 e S & o 8= o9 A7a-oar 31 gaiafd & &7 Sraa o3 Sa sual
faenTerd 1 &l I |18 i MiaidiErl § Suied I6d 62
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Question No. 16 / Question ID 1926 Marks: 2.00

fAfRTad s TuE 1 axad & Saie v § arafud Sifae

Asrrange the following group of terms in order of decreasing extension.

A. Mammal 2
B. Animal B.53
C. Tiger C. s
D. Feline D. fasra
Choose the correct answer from the options given below: At ﬁ.*q i famedl § I Hel 3R &1 994 ﬁﬁﬂ{:
1: BeAg D LB.A.C.D
2.A.B.D.C 2.A.B.D.C
3.C.D.AB 3.C.D.A.B
1BA P 1. B.A/D.C
O 1
1
O 2
2
O 3
3
(O 4 (Chosen Option)
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Question No. 17 / Question ID 1931 Marks: 2.00



Which of the following statements is correct about Internet of Things (IOT) that can create a smart environment by having an
interconnected network of hardware devices. sensors, connectivity and required software?

. Every IoT deviee or item must be connected using UTP cables.

. ToT environments cannot be monitored and controlled remotely.

. The Internet connectivity is not essential for an IoT setup to function.
. Modern smart mobile phones cannot be connected to an IoT setup.
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Question No. 18 / Question ID 1936 Marks: 2.00

Former UN General Secretary Kofi Annan once stated that "perhaps the single most successful international environmental agreement to
date has been the

1. Rio Sumumit

2. Montreal protocol
3. Kyoto Protocol

4. Paris agreement
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Question No. 19 / Question ID 1907 Marks: 2.00



Which of the following are the examples of Learning Management System (LMS)?

A. Kahoot
B. Canvas
C. Canva
D. Moodle
E. Padlet

Choose the most appropriate answer from the options given below:

. B and D only
. A, Band C only
.B. C and E only
.Band C only
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Question No. 20 / Question ID 1914 Marks: 2.00

A statistical test that permits assessment of possible significance of difference across means of multiple groups. is

. Student's t-test

. Analysis of variance
. Paired t-test

. Chi-square test
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Question No. 21 / Question ID 1945 Marks: 2.00

Who among the following ancient Indian Thinkers propounded five steps for the realisation of the meaning of a religious truth
(tattvakatha) which closely resembles notion of learning in Dewey's theory of education?

. Gotama

. Vasubandhu

. Kapila

. Vachaspatimista
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Question No. 22 / Question ID 1915 Marks: 2.00



Given below are two statements:
Statement I: A dependent variable can never be dichotomous.

Statement IT: An independent variable is always dichotomous.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement IT are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement IT 1s incorrect
4, Statement I is incorrect but Statement II 1s correct
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Question No. 23 / Question ID 1922 Marks: 2.00

If 'TABLE' is coded as '45' in a certain coding scheme how the word 'CHAIR' will be coded ?

14

43

42

1. 40

forell Heaa TioHT | 'TABLE' $1 '45' & $U T Pexiad [6dT 74T 5. 'CHAIR' 65 P1 P Heid [bal SIer ?

R SR

44
.43
.42
.40
O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

by S

O 3
3



Question No. 24 / Question ID 1938 Marks: 2.00
Given below are two statements:
Statement I:Biodiesel can be created from vegetable oils and animal fats.

Statement I1: Biodiesel viscosity is significantly lower than that of petroleum diesel.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement I are incorrect

3. Statement I is correct but Statement II 1s incorrect
4, Statement I is incorrect but Statement II 1s correct

E APy Ry E:

HYA I TG dal SR U] 391 H SlSied a=1 o 9Hal 5 |

FYF I1: TTSrSTd 1 X Ueledd Sfod 9 &% $H gl g

ST DY & Haid H, i f3U T fadedi § ¥ 98 Iugdd Jor &1 98 HIfolu:

U1 RIS e

P AR IS e TR
. PYT [ B! 5. s BYT 11 TTad &
4. DY 1Ted B, AT DU 11 TEl ®

1 (Chosen Option)
1 (Chosen Option)

| ]

o o o o=n=

A WOW NN

Question No. 25 / Question ID 1940 Marks: 2.00



Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Hydrofluorocarbons (HFCs), replacements of ozone depleting substances chlorofluorocarbons (CFCs) were also decided to
be phased out during copenhagen-1992 conference

Reason R: HFCs have shorter lifetime than CFCs and contain no Chlorine and bromine

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A
. Ais true but R is false

. A is false but R is true

=9 & FY ST U &, TP 0T UT (Assertion A) & 39 H 1RG0 & O GIR1 39 DRI (Reason R)T U H

SHYHY A: BIUASTH-1992 FHAA B SR SHGH fdef BRI Uard Rl WRISIE-d (CFCs) B UiawiIid $- arad
SIES IRRIPIE- (HFCs) @1 W TRUES dRid 9 g2 &1 [Hufg fergr a1

O VR R

HRUTR: CFC B ga-1 4 HFC 1 @Y ila4 PId gidl ¢ 3R 598 gaki- @ sidiH gl gidl g
SWRIHT PYUT & Aaie H, 19 f3u 1 fasedl § 3 9a8 Iugdd IoR &1 99 Doy

. A3RR I I € 3R R, AP T¢I AR ©
 ASRREH TAE R R, A DI Tel IS T8l &
ATIRAPIR 3T R
AT WP RIT

1 (Chosen Option)
1 (Chosen Option)

B B R

o O O O
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Question No. 26 / Question ID 1932 Marks: 2.00



Identify the correct sequence of the following computer storage components A-D in the descending order of their access speed (from
fastest to slowest)

A, Cache memory
B. Main memory
C. Magnetic disk
D. CPU Registers

Choose the correct answer from the options given below:

9nop

> @ o
IR
N gg

v

ﬁgﬁ‘ﬂ@ﬁmmwﬁ.a D & F1h! TR (TFHEH) Tid & SHaRle] PUFER (Aigdd 9 a3 1) Tl 39 &1 ggar
HifeTg

A PRIFA
B$mﬂﬁ

D. ?ﬁtﬂqﬁm
i f4U U fahedl § T 9l SOk &1 94 BHIfeu:

ononp
Udu:bn
r::»Ut:J

. B.
.B.
. B,
5 A

i R

(Chosen Option)
(Chosen Option)

O O O O

1
1
2
2
3
3
4
4

Question No. 27 / Question ID 1937 Marks: 2.00

U% a YW@ . PCB I U SU A A 4 dH A1 52

Full form of PCB, an air pollutant, is

1. gail FIRACS argipsd

1. Poly chlorinated Biphenyl » -

2. Poly chlorinated Benzene 2. el RIS Sl
3. Per chloro Biphenyl 3. RTR a-lg HRIELS
4. Per chloro Benzene 4. R FRI 6

1 (Chosen Option)
1 (Chosen Option)

o O O O
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Question No. 28 / Question ID 1919 Marks: 2.00



Given below are two statements:
Statement I:The Buddhist communication theory is simple and one sided.

Statement IT: The Buddhists understand communication as social and moral act.

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
. Statement I is true but Statement I 1s false
4, Statement [ is false but Statement II 1s true

-t &l Py R IU &

BYUA I: Jlg HUNUT ST HIURUT 3R U aRel 8

HU I1: dIg, S0 B U ArHIfer qul fde (a1 & ¥9 H Od §
SR PYU b Haid H, i 13U T fadsedl § 4 9ad Iugdd IaR &1 94 Sifoly

B

CPYTI R HEHIga ©

HYT1 3R 1S T E

 HYT 190 &, dfb HUT I 3T §
PUT IR AT YT I I ©

1 (Chosen Option)
1 (Chosen Option)

e LI B =

o O O O
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Question No. 29 / Question ID 1921 Marks: 2.00

Find the correct sequence of five (5) missing letters which will complete the following letter series:

dcec ba ad ccba a

.bacab
.cacha
.cbcab
.cacda

T (5) W SH&RT BT TE o1 1d B2 fora FafafEa sier graen gof & et
dcec_ ba ad ccba a

d =

L

.bacab
.cacha
.cbecab
.cacda
O 1 (Chosen Option)
1 (Chosen Option)

o =

N ¥
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Question No. 30 / Question ID 1927

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Deductive arguments are either invalid or valid.
Reason R: A valid deductive argument that also has all true premises is called a "sound" argument.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct and R is NOT the correct explanation of A
. Ais correct but R is not correct

. A iz not correct but R is correct

- & HY 4T TTE &, TH SHTUHUT (Assertion A) P 9 H [AIREd & ol QK1 39D BRI (Reason R)&F vT 1
ey A F-Ters gfeadt ardr sidy g1 € a1 dU g1 8

HRUTR: dY FHH-TeTe gid s aaft snyR area 9@ gid 8. 98 819 gfdd dgand o

SURIERT YU P S H, A 4T T faed ¥ ¥ 9ad Iugad Ior 1 90 By

Lo =

e g

AIRREATEI € HRR AT Tl =T §

A SRR GHI Tl & IR R. A DI el IR el ©
 ATSI g afpTR GEl TR ®

AT TR AT IR TG

1 (Chosen Option)
1 (Chosen Option)

O O O OJ&L»IJ»—A

AR OWDNN

Marks: 2.00

Question No. 31 / Question ID 1917

Which of the following terms is used to describe human communication behavior related to personal space?

. Contextuality

. Referentiality

. Confidentiality
. Territoriality

fafafad § oF-a1 ug sfeqd =H S Jefid OHa S0 SUa8R BT g Hedl 82

R

1. Siefidd
2. Fofeya
3. T
4. yyrfiaar

Marks: 2.00



(Chosen Option)
(Chosen Option)

o O O O

1
1
2
2
3
3
4
4

Question No. 32 / Question ID 1944 Marks: 2.00

Given below are two statements:
Statement I: The carliest part of the British policy on education was to withdraw from higher education
Statement II: The British policy completely supported the idea of mother tongue as the medium of instruction as against English,

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement IT is true

i 3l By 4y Y §:

B I e Feet fefer =ifd o1 ameran yr S= e & &7 1 Ui g &1 41|

DY 11: Tl 1 = SR & HIerg & U T Si¥ell & [a%g HIgUINT & [daR o1 gul wme fear a1
SRR HYU & 3aie H, 414 f3u 1 fasedl § ¥ Had Iugdd Iok &1 90 DIfoIC:

PYTI AR NS 9T E
YT 3R 1 EH HTTE
PYT I T, AT BYT I A
PYT HIT 8. AfpT PUT I T &
o1
]
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

[ SR E I S R

Question No. 33 / Question ID 1912 Marks: 2.00



In studies mvolving human subjects. there could be short or long term changes in participants because of psychological changes like
boredom and fatigue. This would constitute which of the following threats to internal validity?

. Maturation threat

. History threat

. Selection threat

. Instrumentation threat

o et © A B € 398 38 3R YT ol BAras-% ulkad=l & SR afayiigt § seaaiiers a1 didaries
gRad &l 9%d & | 599 ATdRS audl ® (Hgfaiad § T ©IF 91 @l 81T 82

ba =

a2

1. GRS el Gavl
2. Sicery ged "ot
B LR RE R

4. YD) Hg el Gl

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

o

O
O

b O

Question No. 34 / Question ID 1925 Marks: 2.00

A train leaves station P at 6 AM and reaches station Q at 10 AM. At the same time (i.c. at 6 AM) another train leaves station Q and reaches
station P at 9.30 AM. The two trains cross each other at

8 AM
.8.12AM

. 7.40 AM

. 7.52AM

BIs ¢ PRI U 6 AM W Fedl § IR Q WIH W 10 AM R UgTe ¢ | I 7T (31ufd 6 AMTR) IR ¢7 Q R U Fedl ©
3R 030 AMWR EIHPUGAd! g1 SHI ¢ U g8 D [ g6l UR Bl

LG D =

.8 AM

.8.12 AM
7.40 AM
. 7.52AM

1 (Chosen Option)
1 (Chosen Option)

O 0O o of#br

A WOW NN

Question No. 35 / Question ID 1920 Marks: 2.00



Match List I with List IT

=it 191 gl 11 9 fie sifor
Non verbal D ot
communication escriphion '\!Fﬁ I '\Ff:ﬂ' I1
A locilesics I Novement and position of the whole .
’ " |body to tell a story (ﬁ?—mm (ﬁa’ﬂﬂ)
= T, 1 ovement ofarms andhands only o | [ & Jorrefome | T qqnfgﬂ?aﬁn@ Tra%r{@mm
= B. Erﬂ@ia gy | 1L dyl g&d
C. |Pantomimics III. [Eve movement . el
= = — C. [Heri¥=a fggH] m [H3 1
B leses v PMovement of face only to irritate %ET - -
RS D. (HIdT Ue2H| IV, [HE YA

Choose the correct answer from the options given below: “faRad faeedl O 9 Fol 3R &1 999 Hifol -

bd =

.A-IB-IT. C-IV. D-IIT 1. A-L. B-II, C-IV. D-III
. AL B-IV. C-1. D-IT 2. A-IIL B-IV, C-1. D-II
3. A-IL B-IIL C-IV. D-I . A-IL B-III. C-IV. D-1
A-IV. B-1. C-I1. D-ITI A-IV. B-1. C-II. D-III
1
1

-
a2

(Chosen Option)
(Chosen Option)

o O O O
A WOWW NN

Question No. 36 / Question ID 1943 Marks: 2.00

The Aim of National Education Policy, 2020, is to increase the Gross Envollment Ratio in higher education by 2035 to:

. 35%
.26.3%

50%

4. 40%

ST R Aifd, 2020 BT IR © o 3= e & &% § Goodt AHIG (TRITHS) ST Bl §G1 PR 2035 TPonemmmmmemmees G fedr
Oill;

e L b2

. 35%

.26.3%

. 50%

. 40%

1 (Chosen Option)
1 (Chosen Option)

N SV B

o O O O

AP WOW NN

Question No. 37 / Question ID 1916 Marks: 2.00



The communicative structure, according to the Frankfurt school. that reflects the social order is called

. Custom

. Public sphere
. Convention

. Culture

WP BE T (R0d) & H9R HUNUa® 391 o/ raTiore cawl &1 Uididfad ®dl & 39 P8l oldl g

O

1. 3 Rearar

2. il Had

3.

4. 9

1 (Chosen Option)
1 (Chosen Option)

o O O O

A OWOW NN

Question No. 38 / Question ID 1928 Marks: 2.00

"Switzerland is 48 percent protestant. Heidi Gilsing is a swiss, Therefore. Heidi Gilsing is 48 percent protestant. Which fallacy is
committed in this argument?

. Hasty Generalisation

. Fallacy of composition
. Ad Hominem

. Begging the question

%ﬂ%ﬁﬁﬂ%ﬁmﬂﬁ!ﬂﬂmc{drﬂ g1 gTza! M ueh a9 9Mike® &1 59 (o g1gel M § 45 giqvd Wiee gl sa gaa & &
1P SN 82

a2 2 =

1. =R FHRdi®Ru
2. Ugla iy
3. ofaq f[aey & fau
4, YT &Y
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 39 / Question ID 1911 Marks: 2.00



The study of the behavior of humans and non humans in the natural environment without any manipulation of variables 1s called

. Quasi- experimental research
. Observational research

. Subjective research

. Anthropometric research

=R o ft UBR & 3-0R & 81 Ul arararul & AFal 3R R-AM4l & oUdgR g a1 Hedldl o7

O

1. HG-HARTED ST
2. DU g

3. fawafy srgdy™

4. Hafidig srEYE

WW NN ==

4 (Chosen Option)
4 (Chosen Option)

O O O O

Question No. 40 / Question ID 1941 Marks: 2.00

Which of the following commission/committes recommended the closure of substandard colleges before Independence?

. Raleigh Commission
. Hunter Commission
. Sadler Commission

. Hartog comumittee

9 5 T oo smaraiia = Wdadl ¥ ugd aHHS Heliddredl @l 6 B &1 3 6l 4

R

1. 30 TR

2. BeX SN

3. JSaR AN

4. GIENT WAl

1 (Chosen Option)
1 (Chosen Option)

o O O O

A WO DNDN

Question No. 41 / Question ID 1934 Marks: 2.00



Which of the following memory/storage devices are considered as offline storage ?

A Hard disk drive (HDD)
B. Blu-ray disk
C.DVD/CD

D. USB memory stick

Choose the correct answer from the options given below:

. A. B and C only
.A. Cand D only
.B. Cand D only
A B.CandD

Frafafea 0 3 o &7 Wia SR gieaal 1 i drg HSRo o o 82
A. TS 5% gi5a (Tasieh)
B. & fg&p
c. 31 ot SISt
D. g 0¥ & #HRI s

=i feu e fasedl | ¥ el 3R &1 994 Sioig:

L

1. $adA. B3R C
2.%ad A.C3RD
3.%dd B.C 3R D
4.%dd A.BC3IRD

1 (Chosen Option)
1 (Chosen Option)

o O O O

A WOWWODNDN

Question No. 42 / Question ID 1908 Marks: 2.00



Which of the following factors influencing learning are not related to content?

A, Readiness and will power

B. Organisation of the contents or learning experiences
C. Basic potential of the learner

D. Nature of the contents or learning experiences

E. Mastery over the subject matter

Choose the most appropriate answer from the options given below:

.A.Band D only
A, D and E only
.Cand D only

A, CandE only

e Bt guifad w37 ardt g E @ o @ oRe fovg.agg § 9efid g ®

A. IR d §w] fdd

B. fawy a%q 3ryar i sryal &1 Hs
C. TSl B gaTd! &

D. fqug g% 31yar 34 & Hgfd

E. faug g% W HeRd

L

- fau e fomett & ¥ Iet SR &1 797 DI

1. $AAA.BIARD
2.%dd A.D 3RE
3.%dd C 3RD

4.%ad A C3RE

o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 43 / Question ID 1923 Marks: 2.00

Two numbers are such that their product is equal to 21 and the sum of their squares is 58. find the difference between the two numbers

B owo e
[= R, TN N

4.8
&I ST U1 § 185 G1apT [UTthe 21 & SRIER § 3R 399 a1l &1 IR 58 § | G Siall & ard SR J1d P

e

R
o0 O

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2



Question No. 44 / Question ID 1935 Marks: 2.00

Match List I with List IT

LISTI- Tvpe of
computer network
A AN I The Internet 1s an example of this
tvpe of network.
This tvpe of network 1s found i a
B. PMAN II. |building but is connected without

cables.

LIST II - Description

This type of network 1s found m a

23 e L building but 1s connected with cables

This type of network 1s found in a
D. [WLAN IV. Ifneographiu: region of the size of a

etropolitan area

Choose the correct answer from the options given below:

. AL B-IV. C-1. D-IT
A-I. B-IV. C-III. D-II
- A-IIL B-L C-IV, D-I1
4. A-II. B-IV. C-1. D-III

=i 1 o1 gl 11 § e ey

=l 1 FUER 31 U] T 11 (FEwm)

IGERC] 1. [Ze3C SHUBR & Hedd Bl Jagvl g

e 11 |39 U&R &I Aeqd Ha- H Ui ofidl & U] 9o Hadl & (941 o5l oidl ol
fesauma 111 [59 U&R &I Heqd Ha- 1 Ui ofid] § U3+ e $ac 4 ool oidl 6
[esamaues IV. [59 UPR @1 -cdd Udh Hel-TRg AR & UHllad &3 § Ul Sidl 6l

Fgfaiad fawedl § T Uel 3R &1 984 Hifoiu -

o B R

olo|w|s

. AL B-IV, C-1. D-II
-A-L B-IV. C-T11. D-IT
. AL B-L. C-IV, D-IT
AL B-IV, C-1. D-III

ba =

FES ¥ 51

o O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 45 / Question ID 1906 Marks: 2.00



Which of the following are the prominent features of self-directed learning?

A Self monitoring

B. Taking ownership learning
C. Remedial teaching

D. Teacher oriented

E. Extension of learning

Choose the correct answer from the options given below:

. C and E only

. A, B and E only
.A.Band C only
.C.D and E only

@ [ siferme & Hafeiad § 9 SH-5H 9 TgE e 3

A. 3 3fdiefu
B. 3f¢ATH &1 WIiHd o1

C. STIRTES P80

D. e St
E. 3TEH &1 f[dWR

=i feu e fasedl H ¥ el 3R &1 99 Sioig;

B

1. %ad C R E
2.%dd A.B3R E
3.%dd A. B3R C
4.%dd C.DIARE
1

1

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Question No. 46 / Question ID 1947 Marks: 2.00



Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American. middle class) preschool children. Though observation of children and parents and
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parents'
high or low levels of warmth and control.

« Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm with
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says. "Because [ said so" There is not much talk about emotions. Punishments are
strict, but not abusive. The parents love their children, but they are not openly affectionate.

s Permissive parents (high warmth, low control) are warm and nurturing. but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

« Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling,
communicating or teaching their children

Authoritarian. authoritative ,and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Authoritarian parents in their interactions with their children are all of the following EXCEPT

Not openly affectionate
Cold and controlled
Expect to be obeyed

Do not love their children

OTEH-UIU &1 Qe 1 U URTs [4aR0l ST SIHRS & SHU R 1R 8| 371 SRIY® SR (SEU) 100 (ST
TR 3R, Teqari) Wiaened! g & giaamd s HT0 R diad o7 Tod SR AT-0d1 & H&fu 73T JTdl-fodT &
HIETHR & T12H I GERS R o7 SEIUHES IS = oyl &1 31l ggra1 SR Gral-iuar & 1Hari ud Faa0 & 3= a1 49
WRI O TR IR Te-uryor iferdl &1 Fgifed foar)

Wit d ATdl-iuar (3= TRl 3= ) Ty dia Had $3d §. Fadl & galdd ®Rd ¢ SR RIS HaeR &1 HdRN $
T g d oo Sl & 1Y WeHd B ¢ | 3 efd WISRI &1 Gd &, a8l &1 an @+ &1 SR aaid ¢ auT 3
A diEe Fuh=-ufta &1 Wield HaH &3d ¢ | 781 51 R 45 Ud i ArieRH 9rar oirdl § | 111 fUdl o= i &
gRumE] & #1209 §=1 & fd J gGgEdr ad 8 |
. ffteRard! Ao Femderw, 3w Fam ogn 9= & 9y ST = v § IR ud Mafa ndid gld 81 g 9
T8 WT=T &1 1l & for & URue f 3R ag! &3 ofl JTd1-Mud] @ «adife B4 U8 &gl | gl yiagel @1 e ara e g1 &8
HBR BId &, (b SYHFGHD gl Gid 6 | Tl S04 §=1 1 UH $3d 5. [ Gd dR IR Wg DI YS9 gl dd o
SRS AT (3= TR, 5 Fg=on) Berdl Ud 91eH-aiNol a1 81d . 9oy o &l o [od a9 a1 RomE §1d §
3R 3P YNUP deR &1 HH YA §idl & “aifd d had = |
. Iigra SUlEe e ATar-foar (- TTHSRi. g FEEn [depd cayTe S aTd Wdld gid & aul 3U- §=i & (g0
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 47 / Question ID 1950

Marks: 2.00



Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American. middle class) preschool children. Though observation of children and parents and

interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parents'
high or low levels of warmth and control.

« Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm with
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says. "Because [ said so" There is not much talk about emotions. Punishments are
strict, but not abusive. The parents love their children, but they are not openly affectionate.

s Permissive parents (high warmth, low control) are warm and nurturing. but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

« Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling,
communicating or teaching their children

Authoritarian. authoritative ,and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Given below are two statements:
Statement I: Baumrind's study mostly focused on American middle class school children.
Statement II: Authoritative parents allow greater democratic decision making.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true
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Question No. 48 / Question ID 1948 Marks: 2.00



Read the followmng passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American. middle class) preschool children. Though observation of children and parents and
mterviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the
parents’ high or low levels of warmth and control.

= Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm
with their children. They listen to concerns, give reasons for rules and allow more democratic deeision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

* Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says, "Because I said s0" There is not much talk about emotions. Punishments
are strict. but not abusive. The parents love their children, but they are not openly affectionate.

* Permissive parents (high warmth. low control) are warm and nurturing, but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

* Rejecting/Neglecting/uninvolved parents (low warmth. low control) don't seem to care at all and can't be bothered with controlling.
communicating or teaching their children

Authoritarian, authoritative .and permissive parents love their children and are trying to do their best; they simply have different ideas
about the best ways to parent.

Uninvolved parents .

A. do not show warmth towards their children
B. are non-communicative with their children
C. do not care for their children

D. are affectionate towards their children

E. do not bother about controlling their children

Choose the correct answer from the options given below:

. A and B only

.A B C and E only
. C. D and E only
.B and D only
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Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American. middle class) preschool children. Though observation of children and parents and
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parents'
high or low levels of warmth and control.

« Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm with
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says. "Because [ said so" There is not much talk about emotions. Punishments are
strict, but not abusive. The parents love their children, but they are not openly affectionate.

s Permissive parents (high warmth, low control) are warm and nurturing. but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

« Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling,
communicating or teaching their children

Authoritarian. authoritative ,and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Baumrind's research study focused on

All children
high school children

Pre- school children
Middle school children
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Read the following passage and answer question that follows:

One well-known description of parenting styles is based on the research of Diane Baumrind. Her early work focused on a careful
longitudinal study of 100 (mostly European American. middle class) preschool children. Though observation of children and parents and
interviews with parents. Baumrind and the other researchers who built on her findings identified four parenting styles based on the parents'
high or low levels of warmth and control.

« Authoritative parents (high warmth, high control) set clear limits, enforce rules. and expect mature behavior. But they are warm with
their children. They listen to concerns, give reasons for rules and allow more democratic decision making. There is less strict
punishment and more guidance Parents help children think through the consequences of their actions.

« Authoritarian parents (low warmth, high control) seem cold and controlling in their interactions with their children. The children are
expected to be mature and to do what the parent says. "Because [ said so" There is not much talk about emotions. Punishments are
strict, but not abusive. The parents love their children, but they are not openly affectionate.

s Permissive parents (high warmth, low control) are warm and nurturing. but they have few rules or consequences for their children
and except little in the way of mature behavior because They are just kids".

« Rejecting/Neglecting/uninvolved parents (low warmth, low control) don't seem to care at all and can't be bothered with controlling,
communicating or teaching their children

Authoritarian. authoritative ,and permissive parents love their children and are trying to do their best: they simply have different ideas
about the best ways to parent.

Authoritarian. authoritative and permissive parents have:

1. similar parenting styles

2. highly aggressive parenting style

3. Dissimilar parenting styles

4, Highly mild parenting styles
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2) PART B Subject Paper

Question No. 1/ Question ID 909047 Marks: 2.00

Inclusive education means a system of education wherein:

A, Students from Scheduled Caste(s) and Scheduled Tribe(s) are provided education with suitable modification in curriculum
B. Teaching is suitability adapted to meet the learning needs of all

C. Students with and without disability learn together

D. Urban deprived are provided education

E. Students affected with HIV/AIDS are not allowed for admission

Choose the correct answer from the options given below:

LA.B & C only
.B & C only
.B.C & D only
. E only
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o $d 8 BH- U@ G99l 75l 8] 9ol 87

Savitribai Phule can not be characterized as:

1. Poectess FI} fQT

2. Educationist 2. fregfe %

3. Social reformer 3. HHTS JUIR$

4, Political activist 4. IO SrdEdl
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